‘°‘$IJ65|EF‘ ASE—% 138 BEE 6/3(H)~6/7(&)

(£LER)

6/3(H) 6/401) 6/5(7K) HAH

P E% BARI#ER12:35 RYDEHT16:25 [ZEEARIER 1215 RYDRHK T 16:05 {ZKBEEEIE%L%ﬁﬁEﬂS JI%L{®%%%T14:55 —
R, NEREZ1E03:30~), SFEARNTANEER) (VH17)LT1, REHEZ3E013:30~), SEARNTAMHH) |RRFHES, LLEFIHSHL

Fh 185 B 285FE B 3EFRE B ABFRAE 5B B 685 B 185 B 285FE B 3BFRE B ARSI B SEFRE B [J:51 50 1B¥E B 285FE B 3EFRE B ABFRE SEFFE B [l FHR
1-1 X HF E&E & KE & el BEE il e300 &Rix = &R e F Bl EE = 1-1
1-2 il E&E BE BEE e ¥ EiE i (3% BEE B HF #F 237 e BiE i - 1-2
1-3 HE BEE ez & &Rk B3 REE E&E HF HF i & EiE BE #HF Bl &R = 1-3
1-4 EiE 5001 REE ¥ i B B 237 REE B3 #HF BE e E&E Bttt B #®F - 1-4
2-1 £330 E&E E BEE il & il E&E e & KE B Ed e300 #HF Bl HE] = 2-1
2-2 B e EiE BE iR il #F BEE EiE E3% #H= REE #F BEE BE BE KE - 2-2
2-3 & i REE {2373 #F B3 Rk e i KE REE HF REE 2 E Bl EE = 2-3
2-4 iR 237 Butht e EiE BE e ¥ KE BEE il E30) B B REE B #®F - 2-4
3-1 EFE i REE we #F e300 & HF REE e #} #E REE EE e BiE HE] = 3-1
3-2 EiE BE REE we HE HEE e ¥ #HF BE e 237 #®F BEE EiE BiE e - 3-2
3-3 EE i REE we #He #E & HF e BEE HE] HF EiE i R Bl #} = 3-3
AH 6/6(AK) 6/7(&) AH
P T%ﬁ%ﬁ%fﬁms IRY DT 16:05 I[jq;}l‘;ﬁﬁan%z];’z%%f) IRYDEHRT :16:10 P
Fh 185 B 285FE B 3EFRE B ABFRAE 5B B iS5 1] 185 B 2B5FH B 3BFRE B ARSI B SEFFE B 6BFfRE FHR
1-1 & (2373 REE 2 HE] HF EiE E5 001 i BEE HE] HF 1-1
1-2 ez BEE KE E30) B EiE iR ¥ Bl BE e EiE 1-2
1-3 REE BE e HF KE E00) E E&E R KE #®F E5 2001 1-3
1-4 KE e BE BEE i 237 Bttt BEE #HF e EiE BE 1-4
2-1 R i E&E e #E CE S #HF E&E e BE REE &Rk 2-1
2-2 #®F BEE BE 237 EiE e e 0] REE B3 il e 2-2
2-3 il HF e & HE] B3 KE HF HF e &Rix B 2-3
2-4 & KE REE BE EiE ¥ ®Rix i EiE BEE #HF e 2-4
3-1 EFE HF &R BEE HE] & EiE HF e BEl we we 3-1
3-2 E00] BEE e B3 #F BE e E&E BE ¥ we wne 3-2
3-3 X i E&E e &Rk HF i e #HF iz we we 3-3




